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A) The age of the earth.

B) The mass of a football.

C) The earth’s pull on your _ucav\

D) The temperature of an iron bar.

E) The number of wmow_o mﬁmcmﬂsm an OU moo:um:
game.
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Interactive Question

"~ The vectors A is shown. | |

A .
/ﬂ:ow vector(s) below is equal to —2A?
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Interactive Question

| Vectors A and B are shown below.
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Which diagram below correctly shows the vector C
where C= A + B
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Interactive Question

Which expression 1s not true
concerning the vectors show
in the sketch at the right?
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